
4253 4253.5 4254 4254.5 4255
cyclenum

0.5

1

1.5

2

2.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

2.5−

2−

1.5−

1−

0.5−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

5487

5487.5

5488

5488.5

5489

5489.5

5490

5490.5

5491

ru
n

run:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5489}



4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1us
l_

1X
usl_1X:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1

us
l_

4a
Y

usl_4aY:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
X

usl_4eX:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
Y

usl_4eY:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1

us
l_

12
X

usl_12X:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

5487

5487.5

5488

5488.5

5489

5489.5

5490

5490.5

5491

ru
n

run:cyclenum {run == 5489}



4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1

us
r_

1X
usr_1X:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1

us
r_

4a
Y

usr_4aY:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
X

usr_4eX:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
Y

usr_4eY:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1

us
r_

12
X

usr_12X:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

5487

5487.5

5488

5488.5

5489

5489.5

5490

5490.5

5491

ru
n

run:cyclenum {run == 5489}



4253 4253.5 4254 4254.5 4255
cyclenum

16137

16137.5

16138

16138.5

16139

us
l_

co
il1

usl_coil1:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

2330.2

2330.4

2330.6

2330.8

2331

2331.2

2331.4

2331.6

2331.8

2332

2332.2

2332.4

us
l_

co
il3

usl_coil3:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

5045

5045.5

5046

5046.5

5047

us
l_

co
il4

usl_coil4:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

1619.5−

1619−

1618.5−

1618−

1617.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

12846.2

12846.4

12846.6

12846.8

12847

12847.2

12847.4

12847.6

12847.8

12848

12848.2

12848.4

us
l_

co
il7

usl_coil7:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

5487

5487.5

5488

5488.5

5489

5489.5

5490

5490.5

5491

ru
n

run:cyclenum {run == 5489}



4253 4253.5 4254 4254.5 4255
cyclenum

21286.5−

21286−

21285.5−

21285−

21284.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

2960.5−

2960−

2959.5−

2959−

2958.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

4922.5

4923

4923.5

4924

4924.5

us
r_

co
il4

usr_coil4:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

2585−

2584.5−

2584−

2583.5−

2583−

us
r_

co
il6

usr_coil6:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

28146.5

28147

28147.5

28148

28148.5

us
r_

co
il7

usr_coil7:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

5487

5487.5

5488

5488.5

5489

5489.5

5490

5490.5

5491

ru
n

run:cyclenum {run == 5489}



4253 4253.5 4254 4254.5 4255
cyclenum

143−

142.5−

142−

141.5−

141−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

4.5

5

5.5

6

6.5

1X
_c

oi
l3

1X_coil3:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

102.2

102.4

102.6

102.8

103

103.2

103.4

103.6

103.8

104

104.2

104.4

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

268.4−

268.2−

268−

267.8−

267.6−

267.4−

267.2−

267−

266.8−

266.6−

266.4−

266.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

34.4−

34.2−

34−

33.8−

33.6−

33.4−

33.2−

33−

32.8−

32.6−

32.4−

32.2−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

112

112.2

112.4

112.6

112.8

113

113.2

113.4

113.6

113.8

114

114.2

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5489}



4253 4253.5 4254 4254.5 4255
cyclenum

318

318.5

319

319.5

320

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

90.8−

90.6−

90.4−

90.2−

90−

89.8−

89.6−

89.4−

89.2−

89−

88.8−

88.6−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

16−

15.5−

15−

14.5−

14−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

292.5

293

293.5

294

294.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

110−

109.5−

109−

108.5−

108−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

13.5−

13−

12.5−

12−

11.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5489}



4253 4253.5 4254 4254.5 4255
cyclenum

238.8−

238.6−

238.4−

238.2−

238−

237.8−

237.6−

237.4−

237.2−

237−

236.8−

236.6−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

82.5−

82−

81.5−

81−

80.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

1−

0.5−

0

0.5

1

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

504.5−

504−

503.5−

503−

502.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5489}

4253 4253.5 4254 4254.5 4255
cyclenum

5487

5487.5

5488

5488.5

5489

5489.5

5490

5490.5

5491

ru
n

run:cyclenum {run == 5489}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


